Problem 1. (30 pts.)

Evaluate each derivative and integral.
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Problem 2. (50 pts.)
Evaluate each integral. 2 Po'ﬂ’s )
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Problem 3. (20 pts.)

Determine if the integral is convergent or divergent. Evaluate those that are convergent.
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Problem 4. (20 pts.)

Find the sum of the series.
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Problem 5. (40 pts.)

(a) By using an appropriate test (specify the name) determine if each series is convergent or
divergent.
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Problem 6. (30 pts.)

Find the radius of convergence and interval of convergence of each series.
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Problem 7. (30 pts.)

Find the power series by using a known series or Taylor expansion for each function centered at 0
with at least 3 nonzero terms.
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Problem 8. (30 pts.)

Find the area between r=1-sin0 and the circle r =sin 0 indicated in the picture.

1WeArSe it OV ‘mivx\‘&: .
V= 91O = |- 5B
Anwo = 1
o<1, - 0=/
G\W /z. T SF ;
A3 G
o=T/6

7 /e e
Aw&ﬂ'*(e)de = (gsmedo - 4,§ t-cos20) . do -
2 2 2 ~
o o
-7 -\s
- %9 525 P
T/ /2 | ., )
Ao > g LV (B)de - g 1 (1-sine) “de - 4—8@’“""9*3"‘ 0)de -
o e L
—.1‘?'\',14;{\/\04—1—605@9))&«9 i (:} -1%u - 1005@9))49-
7 o~
W | T2 LZ3 1(0-“3
i E‘f" wse-%&m@e)]\%:2(;_%)40 G)-% ?.)'
=T -2 V3>
P fm 3
Toval cswea A= 9 (At Aq)= .'L(% _‘“_; +lT-Z—U§) T2 9




Problem 9. (20 pts.)
(a) Find two unit vectors orthogonal to both Vv = <1,—2,4> and U = <—5,2,3>

(b)Find the area of a parallelogram with two adjacent sides Vv and 1.
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Problem 10. (30 pts.)
Find the length of the following curve on the given intervals.
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